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REPORT ON SEBI-SECURITIES LAWS: 

 
NOTIFICATIONS/CIRCULARS/REGULATIONS/RULES: 

 
�  Mutual Fund- Usage of load account. Circular No. JMD/DF/4/2011, dated 9th March, 2011. 
 
�  Request for interpretive letter under SEBI (Informal Guidance) Scheme, 2003. Acquisition 

of shares by promoters under regulation 11(1)/(2) of SEBI Takeover Regulations. Letter 
No. CFD/DCR/IG/DMS/4479/11, dated 7th February, 2011. 
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 �  SAMARPAN AGRO & LIVESTOCK LTD. V. SEBI (2011) 101 C LA 18 (DEL) : 

Violation of regulations 73 and 74 is a continuing offence. Where petitioners have taken no 
steps to get registered with the SEBI Board or to wind up the collective investment scheme 
making the payment to the investors, the infringement of the said regulations continues, 
and the limitation envisaged under section 468 of the Code of Criminal Procedure, 1973 
will not be attracted. [SEBI (Collective Investment Schemes) Regulations, 1999, Regns. 
73 and 74 read with section 468 of Code of Criminal Procedure, 1973] 

 
 
�  DR. ARVIND KUMAR B. SHAH (HUF) V. SEBI (2011) 101 CLA 134 (SAT) : 

Acquisition of Shares of target company crossing prescribed threshold limit Where the 
target company made a preferential allotment to its promoters, appellants and another 
entity to raise funds for its new project and for the valid reasons it did not opt for other 
options to raise funds and there is no change in management or control over the target 
company consequent upon the preferential allotment, and the promoter groups remained 
the same, and there was only one outsider whose acquisition of shares of the target 
company did not trigger regulation 10 and sub-regulation (1) of regulation 11, the appellant 
would be entitled to exemption under sub-regulation (1) of regulation 3 from making a 
public announcement to acquire further shares from the existing shareholders in the target 
company in terms of the aforesaid regulations. [SEBI (Substantial Acquisition of Shares 
and Takeovers) Regulations, 1997, Regns. 3(1), 10 and 11(1)] 
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�  COMMISSIONER OF INCOME TAX Vs. K.C.FIBRES LTD. [201 1] 332 ITR 481 

(Delhi) Cash credit – Share application money – Confirmation of transaction along with 
PAN, Assessment particulars, Bank statement and Balance sheet – No finding that Investor 
Company and assessee had any relationship with each other – Not undisclosed income of 
assessee – Income Tax Act, 1961, s. 68 
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�  COMMISSIONER OF INCOME TAX Vs. NARENDRA ANAND [201 1] 332 ITR 483 
(Delhi) Business Expenditure – Deduction only on actual payment – Time for filing return 
extended in terms of proviso to section 139(1) – Sales  Tax paid within extended period – 
Cannot be disallowed – Income Tax Act, 1961, ss. 43B, 139(1). 

 
�  B.RAVEENDRAN PILLAI Vs. COMMISSIONER OF INCOME TAX  [2011] 332 

ITR 531 (Ker) Depreciation – Intangible asset – Goodwill – Purchase of hospital as going 
concern along with goodwill – Assessee entitled to depreciation on value of goodwill – 
Income Tax Act, 1961, 32(1)(ii) 

 
�  AGARWAL FINANCE CO.P.LTD. Vs. COMMISSIONER OF INCO ME TAX 

[2011] 332 ITR 549 (Cal) Depreciation – Rate of depreciation – Assessee leasing motor 
trucks and lorries – Entitled to depreciation at the rate of 40 percent – Income Tax Act, s. 
32 – Income-Tax Rules, 1962, R. 5 Appex I, Item III(2)(ii) 

 
�  COMMISSIONER OF INCOME TAX Vs. PRIYA VILLAGE ROADS HOWS LTD. 

[2011] 332 ITR 594 (Delhi) Capital or revenue expenditure – Tests – Expenditure on 
feasibility study for assessee’s existing business with a common administration and 
common fund – Study abandoned without creating any new asset – Revenue expenditure – 
Income Tax act, 1961, s. 37 

 
�  COMMISSIONER OF INCOME TAX AND ANOTHER Vs. MANDALA Y 

INVESTMENT P.LTD. [2011] 332 ITR 602 (SC) Capital or revenue receipt – Law 
before April 1, 2003 – Non-competition fee – Nature of Capital receipt – Income Tax Act, 
1961, s. 28(va) 

 
�  COMMISSIONER OF INCOME TAX Vs. MONNET INDUSTRIES L TD. [2011] 332 

ITR 627 (Delhi) Interest on borrowed capital – two lines of business whether the same – 
Interest whether for purpose of business – Tests – Assessee carrying on manufacture of 
FERRO – Analysis setting up sugar plant – Businesses in same fold – Tribunal finding 
unity of control and management – interest on capital borrowed for setting up sugar plant 
deductible – Income Tax Act, 1961, s. 36(1)(iii) 

 
�  DEPUTY COMMISSIONER OF INCOME TAX, CIRCLE KATNI Vs.  

VISHWANATH PRASAD GUPTA [2011] 129 ITD 95/10 taxmann.com 74 (Jab.)(TM) 
Section 145 of the Income Tax Act, 1961 – Method of accounting – Estimation of Profit – 
Assessment year 2004-05 – Assessing officer examined account books of assessee and 
after observing (i) that assessee had not maintained quantitative details of purchases, sales, 
closing stock, etc., and (ii) that gross profit disclosed during year under consideration was 
lower as compared to gross profit disclosed in immediately preceding year, rejected book 
results by applying provisions of section 145 and made certain addition to income of 
assessee – Whether since (i) it was evident from record that assessee had maintained 
inventory of opening and closing stock, vouchers for purchases and sales and books were 
audited by auditor, and (ii) Assessing officer had not pointed out any mistake in account 
books of assessee, there was no justification in making impugned addition to assessee’s 
income – Held, yes�

 
�  3i INFOTECH LTD. Vs. DEPUTY COMMISSIONER OF INCOME TAX, CIRCLE 

10(3), MUMBAI [2011] 129 ITD 422/10 taxmann.com 86 (Mum.) Whether since way of 
allowing expenditure in earlier assessment years was an accepted method both for 
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accounting purposes as well as for computing income under Act, there was no reason to 
take a different view for assessment year in question – Held, yes 

 
�  DEPUTY COMMISSIONER OF INCOME TAX, CIRLCE 1, KOLKAT A Vs. 

ASHIKA STOCK BROKING LTD. [2011] 44 SOT 556/9 taxmann.com 7 (Kol.) 
��������		
��������
������������������������������� �����������������������������������������
����������� ����� �  !" 	� �� ��������� ���#� ���� ��#� �$� ���#� ������� ��#��� �������� 		
� ��
��������%� �������� �����#� ����� ���� ���#� ���� �������� � ��#� ��$�� ��� ������� ��� ����� ���&���
��%�����#�#�����'��$�����������������#�����������		 
����������������������#���������&���
��%����� (��� ���$�#�#� ��� ��� ������%� ����� ��� ����$� �� ����� �� (������� ����� ������ ��� �� ����
����$��������������#��$��%����������$����&�����%��� ����#������������������%��������&���
��%��������#��������������������������������������� �������������$�#��������������������������
���������������		
�����$#��������(����������������� �����������������#�������������%���������
(��$��%������%����������#�����������		
�(���������� �������$����)�$#�����  

 
�  UNI DESIGN JEWELLERY (P.) LTD. Vs. DEPUTY COMMISSIO NER OF 

INCOME TAX [2011] 44 SOT 79 (Mum.)(URO) 
��(�������#�����������������#���$�#��$$�
#����$�� ���$�#��%�#����$� ��� �$���� ���#�#������� ��#� �� �������� � �� �� 
�� (��� �������� ������#�
������������$���#������#�#�����������&������������% �����������������#�����������*���$����
���� #�#������� ��#��� �������� � �� ������� �� (������� �� � ������� ��� (��� ��������� �����
#���������� ���(���� �$���� ��#�� ��#��� �������� � �� ��# � �$$�(�#� ��� ��+����� (��� ���
�����������#�����������������������)�$#��������(��� ������������������������������(���������
����$�#�#� ����� ������(������������$������������� ��� �����������#�����������������%��#�
����$�����#���(���������'�����#���)�$#�����  

 
�  VIDYA PRATISHTHAN Vs. DEPUTY COMMISSIONER OF INCOM E-TAX 

[2011] 44 SOT 90 (Pune) (URO) ���������,�����#�(�����������������������
��������� ������
�������-�������$�������$�%�������������.����$������ ����������������������������  /" 0����
�  �" !������������(�������#��������$�������������� �%������#���#�����������������.����%�
��$�+���� ����������� ������ ��������� ���#� �������� ��� ���� ��� ����������� �#+����� ���
�����������$��� ��������$�� ������ �1�1��23*��$��� ���� ������ ���23*��$��� (��� ��� ���+�#������$������
��� ��������� ��� ������� ������ �� ��������� ��$�#� ���� �� ����� �$�����%�#�#������� ��#��� ��������
�������������%�������������#����������������������� ��������������#�23*��$���(�����������
�� )�� ����� ��4����#� ��������*�� �$���� ��$#��%� ����� �� � �����%� �#+����� ������ ��� 23*� �$����
��������� ��#� +��$���#� ���+������� ��� �������� �,5�65� 67�,5,6� ��#� �,5�65#6� �� 8�� ��������
�����$�� ��� (��� ����� ����� �������� �,5�65�6� ���#� (��� � �������� �,5�65�67�,5,6� (��� ����
���$����$������������������23*��$���������$�������� ���$�� �������(��� ������ ���������#��������
�����������#�������������,5,6���9����+������+������ ��������������$�#�������+�������23*��$���
��#� ������$���#� ������� �����+�#� ����� ��������� ��� �� �� ������� �� :������� ��� +��(� ���
��������#�� ��� (��� ��� ��� ��$#� ����� ������ (��� ��� ���� ��+������� ��� �������� �,5�65#6� ��#��
��������������������(����������$$�(�#������������$� ���#���#����������������)�$#�����1  

 
�  ST. LAWRENCE EDUCATIONAL SOCIETY (Regd.) Vs. COMMI SSIONER OF 

INCOME TAX & ANOTHER [2011] 53 DTR (Del) 130 
�����������#����1�� 5�,-65+�6�
�� 
#��������$� ������������ �� ;������ ����+�� �� -�����- 
�� ������#� �����+�$� ���� ���� �������� ���
������������#����1�� 5�,-65+�6���$�$���������%����# �����������#��������$������������������
��������������������%��������%�����$��������������� ������<���4�������#���8���������������#�
�������-�����-
������������#��������$�������������� ���&��%���������������$#�����%��������
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���� '���������+�� ����$��� ��� $�%�$$�� �������$�� ��#� � ��������� �� 
�� ������� ��� ��$#� ����� ����
�$�����%� ���������� ������ ����$#� ���� ��� ���� ����$��� �� 8�#��� �����#� ��� ���� ����������
��������������������#����#����������������������#�� ����������#4�#����������������#�����(����
$�(1 

 
�  COMMISSIONER OF INCOME TAX Vs. JOHN TINSON & CO. ( P) LTD. [2011] 53 

DTR (Del) 135 ;���$��� ��#��� �1� �!�5�65�6� �� =���������� ��#��� �1� �! 05�65�6� �� 8��%���$�
�����������+��">"+����������#���������������������� $��������#��������������������������#���
#�1� ��# � ��%����� �  /� ��#� �������#� ���� ������� ��� ���� �8"� �8 � ��#�� ������ ����������� ���
�	 �� �?��1�� �  0� ��#�$�+��#� ����$��� ��� ��#���#�1� �� �� � ��%1�� �  0� �� �������$� ��$#� ����� ����
����$��� ��#��� (��� �����#� ���$���������� ��<���4����� ��#� �� ����������� ��#���#�1� �	 �� �?��1��
�  0�(�������������#���(��������������#��������%��� ������#�������������������$��$��%�$��
%�+��%� ������� ��� ���� ��#��� #�1� � �# � ��%1�� �  /� �����#� ��� ���� �������$� ��� ���� ��$��$��� ����
(����� (���� ��#�� ���� ���� ������ ����� ��� ����� ��#��� �� � ��#����&��%� ������ ��������� ���$#� ���
���4���� �� ������� �� �����$�� ��� ���� ��������� (��� �%%� ��+�#� �%������ ���� ������� ��� (�����
��������$��$�������(������#���������������������#�� �#�1��� �� ���%1���  0������#���������8�
(��������������3����#�����(���������������#����$��� ����������+�#�#���#����1��!0  

�
� � COMMISSIONER OF INCOME TAX Vs. HARYANA WAREHOUSING 

CORPORATION [2011] 53 DTR (P&H) 148 Mere fact that it can acquire, hold and 
dispose of property which is feature of every juristic person and that it is deemed to be a 
company and can declare dividend will not in any manner deviate from the character of the 
assessee – Assessee was therefore entitled to registration under s. 12AA 
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<� ���� ��3��������2� ����������� =����� �������2� ���� 
� �=� ������ :�������
������� ����� ����� ���� ����������� ��� ���� �������� ��� � ���� ��� �����!
�>������������������������������������������?������ �����������������
��
�����������������=��������������������������������� �������@��������������
����� � :��� �����!�>���������� ��� ���� =������� �������� ��� 
��������� ���
���������� ��� �������� 3������� ����� ����������� ������ ��� ���� ��� ��=�� � 0���

������2��2�����A���;��������������1$$�B1,*C� ���+1 $�D��#�����

<� ���� ���!���#������� �������
�� 2����� ���� ���� ��@��� ��� ��� ��� �������� ���
���� �>����� �������� ����������� ��� ���� ��������� � ��� � ���� ������ ���
�
������� ��� ���
�� ���� ��
��
������ ��� ���� 4�������� � �� �
������ ��� ����
�>����� ����� ��� ���� ��������� ����� 4�������� ������� �� � ����� ������� ����
�������� ��� �������� ������ 
�������1)'�� ��� ���� ����=� ���� ��������  >�����
6������ �� � A��� A������ ������ ����� .
������� 1)$$� B1,* C�  ��� +1+�
;�����#������

<� ��� ������ =����� ����������2� ���� ������������ ���� =� �
��� ��� ���!�������� ���
���� >��������������������������������������������� ��������������������������
������������������������=������������2�������=����� �������2�������������
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��� ���� ����� ������ ����� ���� ����� ����� ���� �������� �� � �� ���#� ���������
������������������������������������������!�������� �����������������������
���� ���������������� ����
�� ��� ���� ��������� ��� ����� �� ������� ������������
���� =��
��� ��� ���!��������� 5��2��� ������������2� ��� ����� ����� A���
;��������������1)$$�B1,*C� ���+*1�BD��#���C��

<� ���� �������� 5����� ���� ����� ����
��� ����� ���� ����� ��� ������ ���� �����
��������������������������������������������������� ������������
��������
����� ������ ���� ���������� =���� ��� ��@������ ��� ��� ��� �������� ���� ����
�������� ��� ��
�����2� ���� ���
��� ������� �
������ ��� � ��� ����� ��� ����
�������������������������������� �A���6�2���������� �����1)$$�B1,*C� ���+,%��

<� ������������.������������������=�����������@����� �����������2����������������
���� ����2��� �����2� ���� �������� ��� ���#��2� ��� ������ ����� ���� ��
��
������� ��������� ���� ������ ��� ��������� ��� ��� =����?� ����� =�������
��
������ ��� ���� ������� ��� ����� ��#��� ��� ������ ����4 �
������ ������ ��� ����
5�3����� 8�2�� ������ ���� ����� ����� ��� ��
������ ��� ��� � ���
��� ������� ���
�������������������������������=�����������=������� ����#��2�������������
=�������������������2��������������
��������������� ����=���������������
��
������������
��?���
���������������������������� ��������@���������� �
A���5����9��������������1)$$�B1,*C� ���+(1��

<� ��� ����� ������=��� �� ����� ��� ���� �>����� ��� )�$(E� � �� )�+(E� ��� �������� ���
��������� ����� ��2��� ��
������ ��� ��������� ��
������� ����� �������� ��� ����
���������������������������=��2�������������������� ������������=����������
����������� ��� ����� ������ ��� ����� ���� ��� ���� 4������ ���� ���� ��
�������
��������������4��������������������������������!��� �����4�������
�2���
�����������A����� �1)$$�B1,*C� ���.�2��*+)��

<� ��� ����� ���� 4���������� ��� ������2� ����� ���� ������ �� ��� ����� ��������
���������?�>������� ����� ��� =����� ����� ��� ��������� � �� ���� ���������
�����=�����������������������
��������������������� ������������3���������4 ��
������������������������A����� �1)$)�B1)C�
�6�%%-�� ���������

<� ��� ����� ���� ������� ��� ������2� ���� 2����� ��� ����� � �2���� ������ ����� ����
������ ��� =����� ���� ����� ���� ����� ���2��� ����� ����
������������?���������� ��� ������ ���� ��� ���������� �� ��� ���� ������� ���
�������� �������� � ��� ����� � ���� ������ ��� ����
��� ��� � � ������� � ����� ����
����2����>�����������������������������2����������� �����������������������
������� ��� ��� ��������� ��� ���� ����������� 
������ � 4�� �
���?�������������
����2�����������������������������������������
���� ��������������������
����� �����4����� ��� ���� ��������� ����������8����� ��� �����7����� .
�������
A����� �:�����1)$$�B1,,C� ���+--��
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<� ���� ���������� ��� ���� 	������� ����� 1)$)� ��� ������� �� ��� ������2� ���

����
���������������=������������������������������ �����������=���������
����
������ ��������� ���� ����� ���� ���� ��� �� �������� � ��� 8��F���� 9������
8�2�� ������ ���� ����� ����� ��� =����� �������� ������� �� � ������2� ���
����
������ ��������� ���� ���� �������� ��� ��������� ��� ��������� ���� ���
������������ ��
����� ������ ��� 
������� ,-B')!�C� ���� � ��� 
��
���� ��>�
=����� ��� ��
������ ��� ����� ������������� � � ;�#��� ���� ����� ����A��� ;����� ���
������1)$$B11C�
�6�1-%�B9�����C��

�
<� �����������������6��+-��������������������������� �����������������������

������� ��>� ������������ ���� ������� ������������� ��� � ��� ���
���� ��� �������
D������� ���� 
��
���� ��>� ������������ �������� B=����� �� �������2� ���� ����
������������ ��
����2�����C� �������� �� ������� ��� ���� ��������� ����
���
����2� ������� D������ 
��
���� ��������2� ����� ���� ��� ������� ��� ��
�������� ���� ���
����2� ����� ���
����� �� �� ��������� A ��� �������� 6�������
1)$$B�11C�
�6�1,+�.G8���

�
<� 4����2� ���� ��������� ��� ����� ������������� ���� ��
� ���� ������� ��#��

������
�� ��������� ����� ��������2� �>�������� 2������ � �
������ ��� ���
���
������� ���� ��3�����2� .��� ��������� � ���� ��������� ��� ����� ���� ����������
�������� ��� 2����� ��������� ���� ����� ������������ ��� � ��
��� ������� ����
��������������.�����������������
��������B.C�����A� ���� �1)$$B11C
�6�
+,*�B���C��

� �
<� 9��������
����������������������������
���������� �����������������������

��� ����� �2������ ����� ������� ���� ������� �������� ���� �������
�������������� ���� ������������� ����@�������� ��� ���� ����������� ����� �����
�������������� �A������������5��
�������1)$$B�11C�
 �6�+()�B���C����

�
<� ���� ��������� ��� ��������� ��� ��#�� ���!����� ������� ��� ���� ������� ���

�����@������ ��� ������� ��
��2� ����� �������� ��� ������ ��
���� !� =����
������������������4�������������������������������� ��2��2����������������
����� ������ ���� �������� � ���� ��������� ����� ����� ���! ����� ������� ��� ���
������ ���� �������� ���� ������� ������������ ��� ��@���� �� ���� �����������
�������� �������� �������� ����#�������B.C�����A��� �� �1)$$B�11C�
�6�1-1�
B���C��

�
<� 7����� ��� ��� ���������� ���� ��������� ��� ���
���� ��� ����� ���
����� ��� ����

=��#���� ���� ������ ������ ���� 	��������� ����� ���� ���
 ���� ��>� �����B������
9������� �������2� 
��
���C� ��� ���� ����������� =��� ��� 
����� H��������

��
���I�� ���� ���
��� ������� ��#��� ��� ���� ��������� � �� ���������� ��� ������
���
���� ��� ��������� ��� ���� ������������ ��� ��������� 2����� =������ ����
������2����6����+�����������
����������6������1))*� ��� �A���	��������#�
�������������������1)$$B1$C�
�6�(�B5�3C� �

�
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�� ��� ����� �� 
������ ��� �����2������ ������ 
������� +'$?+ '*� ���#�� ���
�
���� ������� ��>� ��� 2�
��2� �������� ���������2� ����� ����� ��� ��
������������ ���� �������� �������2� ���� �������� ������ 
������� ()� ��� ���
������� ��>� ���� ����� �2���� ��� ����� ����#� ��� ������� � ��� �������� �
����
�������� ��� �������� 2���� ��>� =����� ���2��2� ���� ����� ���������� ������� ���
���� ����������� �������� =���� ���� ����������� �������� � �� ����� ������
���������=����� ������������ ����� �������=���� ���� ��� �������� ��������� ����
������� ������� ��� ����������� ���� ���� ��������� ���� �� ��������2� ����
������� ��� ������� ��� ��� ����������� A��������  ����� 5� 3����� ����
1)$$B$)$C����1-�B5�3C��

<� ;����� 
������� $$$� ��� ���� ���������� ����� $'-,�� ��� � �������� ��2�����2�
������������� ��� ������ ��������� ������� �=�������� ��� ������� ����
��2���������� ��� ��������� ��� ������� ��� ��@������ ��� � �� �������� ����� ��� ����
�������� ��=� ������ ���� ��
��� 0��2�� ���� ��� 3��������� ��� ��� ������� ����
������ � A������ ���2����� A��� 6�������� ����������� ���� � 1)$$� B$))C� ����
++)�4�������

<� ��� �����6��� ���� ������ ��=�����2� ��� ��������� �2��� ��� ��� :�	�� ������� ����
8�2����������������=�����2��������������������:�	�� ���������������������
��������������������������������������������������� �����������#����������
��������������������2�
�����������:�	�������������� ������
�
�����������
���������������������������������=����!����6���A��� ���������	�������
G�4�
��������������1)$$�B$))C�����.�2��,+���

<� �� ��������� ;?�� +'%?+'(� ���� ��� ����������� ����� ��� �� ������� =��� ���
���=�� ��� ������� ��� ���� 6�2������ ��� �������� ��� ���� � �������� � ����
������� ���#��2���!��������� ��� ������� ��� ���� ��
���� ����� ���� ����� ���������
;?��+'%�����������������������������������.�������� �����������������
����
���������;?��$$$�����������������������$'-,�������� ��������������6�2������
��� ��������� � ������ 
����� ����������� 4�
��������� ��� ��������� ����� A���
����������=�������1))$�B$))C�����(+�.������

<� ��������������������������������	6��������������� �������������2��������
���������������������.���������������������������2� �����;?��+'$?+'*����
�������������������$'-,�=�������������������������� �2���������������
��������2��������������������������������=��������� ����������������������
��	6�� � 
���#��� ��������� ����� A��� ������ 6����������� �� �������� ������
�����1)$$�B$))C�����',������������

<� ��� ����� ���� �������� ���� ������ �� ��������� ����2� =� ��� 
������ ���
�����2������ ��� ����������� ;?�� +'$?+'*� ��� ���� ������ ���� ����� $'-,�
����� ��� ���� ���������� ���� ����� ��
��� ��� ����������� � ;?�� +'$� B���!
�������� ,C� ���� 2����� ��� ����� ��� =����2� ��� ��������� 2��� ����
����
���������2�� ���� ������ ������
�� ���������2�� �2������ ���� �������� ����
���� 4���������� ���� ����� ������������ ���#��2� ����� �� � ������� ��� ��� ��3������
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������� ��� ���� ����� ���=�� ������ ������ ����� ���� .���� ������ �������� ����
�����2��������������������������������������������� ��������2������������
������� ��� �����2������ B=����� ��� ���� ���� �������� ��� ���C� ������ ���
�����������������������������������1)$$�B$))C�����$ )1������������

<� ��� ����� ������ ��� ��� ������� ��� ���� ����������� ��� � ����������� ��� �������
���� ����������� �������� ��� ���� ����������� �������� �� �����2� ��� ���
����2������ =���� �������� ��������� ����� =���� ���� ���! �������� ����
�������� 0��2�� ��� ���� 8�2�� ������ ��� �����
�� ���� 
��� ��� ���
����2�����������������������0��2������
��������=��� ;?��+'$�����+'*�
��� ���� ���������� ����� $'-,�� � ������� ����������� .
�� � ����� 1)$$� B$))C�
����$+,���������

<� ����������������������������������������������#�� ���������6�2����������
���������� ��� �>������� ��� .�=���� ;?�� -,)� ��� ���� ���� ������ �����$'-,��
����6�2���������������������������������������
��=� ������:�������������
�������� ������2� ����� ��� ��� 
��=� ������ :������ ���� �� ��� ����������� ����
����� ��� ���� �������� ���� ��� �����#� ����� ��� ������ ��� ��� �
������� ������
�������
����������������������������������������#�� 2�������������=�����
�������2�����:�=�2�������������.
�������
���69��1)$ )�B���C�$*-'��

<� ������=���;?��+'$?+'*�����������������������$'-,� ����=��������2�����
��� ���2����� ��������� ��� ���2���=����=� ���������� ��� � ���� ������� �������2�
��������2������������������
����������������������� �����������������
1)$$�B$))C�����$(-�4��������

<� ���� 
������ ��� �����2������� =����� ��
���2��� ������ �2�������
�������������������������������������
������������� ��������������������
�����
�� �������� ���� ��� �������� ��!�
������� ���� ���� 
����� ��������� ���
���� �������� =���� ������ ��� ��� ��3������� ����� ���� ��� �����������
����������� ���������� ���� ���!���#�� ��������� ������� ���� ������ ������
��������� ��� ��3������� ����� ���� 6�2������ 4�������� �� �� ���� 
������ ���
��������������������������4
��������������
�������� ������1)$$�B$)))�����
11(�.��3���G�8��������

<� ���������������������������������������
�������+' $��������=������������
��� ������� ���� 
������ ��������2� ���� ����������4���� � �� ���
����� ��� ����

�����������J����.��������B.C�����1)$$B$)$C����$-)� B5�3C��

<� 7����� ;����� ��� ������ ����� �������� 5�
�������� ���� �� ��=��� ��� ����� ��
���������������
�������+'%�����+'(����������������� ������$'-,����������
������� ���#� ������� ������ �������� -*+� ��� ���� ������� ��� �����$'-,� ������
���� �5� ��� �������� �� ������� ���� �� ���������� � .������ �A�#���A��� ;����� ���
������1)$$B$)$C�����1,+�������

<� ���� ���� ���� ����=��� ���� �������� ���� ��� ������ ���� ��� ���� ����
��� ���
���������������
�������1(*�=�������������2�������@� ������������������������
������ 
������� $((� ��� ���������� ����� $'-,� ��� ������2 � ���� ��� �������
��������� ���������� ���� ���������2� ���� ������������ � �������� � 8�����2�
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� A� ����#�� 1)$$B$)$C� ����
1*(�B���C��
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&����#�� $��


��
�� ������������������������#�����������������2�������� ��=����
 ���������=����

��� ���� ��������
�� ��
�������� ������� ��� ��#��2� ���� � ������� ��� ����
��
�������� ��� 
��������� ��� ���� 6�2�������� %+� ���� %* � ��� 
 ��� B��������
��
��
�������� 
������C� 6�2�������� $'''�� ����� ����� 
��� ������ ��� ��
���������2� �������� ����� ����� ������ ���� ����� ���� ��� ������� � ��� ��
������������ ��� ������ ��� ���� 
 ���� ����� ���� ����� ��� ����������� ������

������� *,(� ��� ��� .�� ������� ��� ����=��� ��� ������ ��� �� ���� ���������� ���

 ��� ��� ����� �������� � 
�������� �2��� G� ��
�����#� ��� � A��� 
 ���
1)$$B$)$C�����$(�B4����C��

�
<� ���� ������� ���� ��������� ��� ���� ����������� ��� H2�� ��I� ���� ���� ����������

����� ������������ =����� ���� ���� 2����� ���� ���������� �� ��� ������� � ����
��������������������������������������������������� ������������������������
������� ��� ����� ������ ������� ���� ����
�������H����I� ����������� ���
�������
1B2C� ���6���
���� ���4����� 4��� ��� ���#�� ���� 	������� �� ������������� ������
������� �������������� �������� ���� A��� .9� 46�� 1)$)B$% +C� 4��� 1*%� 4�����
4�� �

<� ���� 4�������� ��2��������� ������� ������2� ���� ����� � ������ 
������� $*� ���

�������������������������������������������������� ���=�������������������

�������$+�����
�������(��������
������������������ ���������#��2����������
����������� ��� ���� �������� ������� ��� ���� �����=���� � �� ���� ������ ��� ����
��2�������� ��������� ������2������ ���=������������ �� ��������2����>����� ���
=��� ��� ��������� ������ �������� 11,?11%� ��� ���� ������ ������� ��� ������� A�
:����� D����� A��� 
�������� ���������� ���#� 1)$$B$)$C� � ��� -$� �������
4���

<� 7�����������3������������������������������������ �������@�����������
��
������ �� � ������� ���� ��
�
��� ��� ���� ���#� �������� ��� � ���� ������� ��� ����
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